@ Non- contact type dispense valve
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Non- contact, very small amount , high speed dispense
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Optimal non- contact type valve for very small amount of materials
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High speed dispensing by Piezo
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Dispense materials to even irregular and uneven works
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Various patterning like line drawing linking dots together
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Heater (RT~70°C)
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Nozzle
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Suitable for various sized barrels,cartridge system,tank Example of EzROBO-5GX on board
system can provide materials through tube
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14 9 A lot of requirements are settable with the touch panel. A cable
| L] connects between the controller and Jet valve (cable length 7.5m)
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D 3 Y mTV modular & 4 M H 2 Minimum dispense amount | 0.2 nL
j ° It & « &)U Dispense cycle Max1200Hz
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4 = W Dispensable ~200,000mPa's
- 855 N W M E \iscosity range ~1.000,000mPa-s (BHES A7)
- | )L Nozzle 4 £ < & Overall dimensions (W)85.5%X(D) 14%X(H)52mm
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T Hotmelt type for up to 200°C is also availableas option.
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(unit . mm) Minimum dispense amount and viscosity range depends on liquid characteristics.
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Specifications are subject to change without notice.
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TEL 03(6659)2491 IEI-SINGAPORE TEL +65(6743)4114
TEL 06(6330)7373 IEI-THAILAND TEL +66(2)714-3160
TEL 093(871)7300 IEI-ShenZhen(CHINA) TEL +86(755)8359-0580
TEL 022(227)2652 IEI-SuZhou(CHINA) TEL +86(512)6805-0161
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